
The function p is defined as p(x) = x'- - 3x. If the 
function q is defined as q(x) = p(x) - 4, what is the 
value of q(lO) ? 
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In the figure. above, each pulley added to the pulley 
, system after Pulley A reduces the amount of force 

. . required to lift an object to 50% of the original 
amount. 'lfthe system has three additional pulleys, 
what would be the approximate force, in NewtonsJ 

that is exerted to lift a weight that normally requires 
200 pounds of force to lift? (1 Newton = 0.224 
pounds) 
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